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Risolvi le seguenti equivalenze.

9,4 m² = ................... dm²

0,03968 dm² = ................... mm²

3306000 m² = ................... km²

1,14 dam² = ................... dm²

0,3979 m² = ................... dm²

0,00292 m² = ................... cm²

2,84 dam² = ................... m²

2,92 hm² = ................... m²

4,409 hm² = ................... dam²

21400 cm² = ................... m²

910 m² = ................... dam²

195 dm² = ................... m²

1580 mm² = ................... dm²

0,00021 km² = ................... dam²

3,243 km² = ................... hm²

345600 mm² = ................... m²

2,32 km² = ................... hm²

310 hm² = ................... km²

1232 cm² = ................... m²

1,811 km² = ................... m²
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0,1117 hm² = ................... dam²

0,69 dm² = ................... cm²

4,7 dam² = ................... m²

17,4 dm² = ................... m²

2,85 km² = ................... dam²

0,04446 km² = ................... dam²

1,366 m² = ................... mm²

10340 dm² = ................... dam²

0,01273 hm² = ................... m²

23 dm² = ................... m²
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Soluzioni

9,4 m² = 940 dm²

0,03968 dm² = 396,8 mm²

3306000 m² = 3,306 km²

1,14 dam² = 11400 dm²

0,3979 m² = 39,79 dm²

0,00292 m² = 29,2 cm²

2,84 dam² = 284 m²

2,92 hm² = 29200 m²

4,409 hm² = 440,9 dam²

21400 cm² = 2,14 m²

910 m² = 9,1 dam²

195 dm² = 1,95 m²

1580 mm² = 0,158 dm²

0,00021 km² = 2,1 dam²

3,243 km² = 324,3 hm²

345600 mm² = 0,3456 m²

2,32 km² = 232 hm²

310 hm² = 3,1 km²

1232 cm² = 0,1232 m²

1,811 km² = 1811000 m²

0,1117 hm² = 11,17 dam²
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0,69 dm² = 69 cm²

4,7 dam² = 470 m²

17,4 dm² = 0,174 m²

2,85 km² = 28500 dam²

0,04446 km² = 444,6 dam²

1,366 m² = 1366000 mm²

10340 dm² = 1,034 dam²

0,01273 hm² = 127,3 m²

23 dm² = 0,23 m²


